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1) Find perimeter of 2) Find perimeter of 3) Find perimeter of
sguare having each side square having each side . triangle s=100 cm
s (s) equals 79 ft s (s) equals 20 ft
s
s S
Answer: Answer: Answer:
4) Find perimeter of 5) Find perimeter of 6) Find perimeter of
b rectangle having b rectangle having b rectangle having
sidesa=95m sidesa=23m sidesa=43cm

a andb=78m

a andb=7m

a andb=18cm

Answer: Answer: Answer:
7) Find perimeter of 8) Find perimeter of 9) Find perimeter of
b rectangle having square having each side b rectangle having
sidesa= 100 ft s (s) equals 59 cm sidesa=85ft
a and b =100 ft a and b =52 ft
s
Answer: Answer: Answer:
10) Find perimeter of 11) Find perimeter of 12) Find perimeter of
b rectangle having . . triangle s = 66 ft b rectangle having
sidesa=40in sidesa=25in
a andb=20in N a andb=13in
Answer: Answer: Answer:
13) Find perimeter of 14) Find perimeter of 15) Find perimeter of
triangle a p triangle square having each
b b a=59cm,b=62 h=92,a=96ft, s side () equals 57 in
cm c b = 98 ft, ¢ = 100ft
3 s
Answer: Answer: Answer:

Copyright 2018 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name: Sr: 12122018-856
e 12 MATHS WORKSHEET [£y SATe S P

GENERATOR GCSES T
16) Find perimeter of 17) Find perimeter of 18) Find perimeter of
sguare having each a p triangle sguare having each
s side (s) equals 66 in h=70,a=83in, s side (s) equals 66 cm
c b=91in,c=99in
3 5
Answer: Answer: Answer:
19) Find perimeter of 20) Find perimeter of
sguare having each square having each
s side (s) equals 10 ft s side (s) equals 54 m
s s
Answer: Answer:
Total: /20
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1) 316ft 2) 80ft
8) 236cm 9) 274ft
15) 228in 16) 264in
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3) 300cm
10) 120in
17) 273in
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Answers:
4) 346m 5) 60m 6) 122cm 7) 400ft
11) 198ft 12) 76in 13) 183cm 14) 294ft
18) 264cm 19) 40ft 20) 216m
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